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PSSA Math: Justin Joins a Gym (Grade 8); Anchor Set

1. Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

Go to the next page to finish question 25.
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PSSA Math: Justin Joins a Gym (Grade 8); Anchor Set

1. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, —25).

C. Why is the point (-3, -25) not a possible solution in this situation?
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PSSA Math: Justin Joins a Gym (Grade 8); Anchor Set

Grade 8 Math
Justin Joins a Gym

Assessment Anchor this item will be reported under:

MO08.B-F.2 Use functions to model relationships between quantities.

Specific Anchor Descriptor addressed by this item:

MO08.B-F.2.1 Represent or interpret functional relationships between quantities using
tables, graphs, and descriptions.

MO08.B-E.3.1 Write, solve, graph, and interpret linear equations in one or two variables,
using various methods.

Scoring Guide:

Score

In this item, the student —

4

Demonstrates a thorough understanding of using functions to model relationships
between quantities by correctly solving problems and clearly explaining
procedures.

Demonstrates a general understanding of using functions to model relationships
between quantities by correctly solving problems and clearly explaining
procedures with only minor errors or omissions.

Demonstrates a partial understanding of using functions to model relationships
between quantities by correctly performing a significant portion of the required
task.

Demonstrates minimal understanding of using functions to model relationships
between quantities.

The response has no correct answer and insufficient evidence to demonstrate any
understanding of the mathematical concepts and procedures as required by the

task. Response may show only information copied from the question.

Top Scoring Student Response And Training Notes:

Score Description
4 Student earns 4 points.
3 Student earns 3.0 — 3.5 points.
2 Student earns 2.0 — 2.5 points.
1 Student earns 0.5 - 1.5 points.

OR
Student demonstrates minimal understanding of using functions to model
relationships between quantities.

0 Response is incorrect or contains some correct work that is irrelevant to the

skill or concept being measured.
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A.
What? Why?
slope: 10 Sample Explanation:
y-intercept: 5 The slope represents the monthly charge (of $10) and the y-intercept
represents the joining fee (of $5).
OR equivalent

(2 score points)

142 point for each correct answer
AND
Y4 point for each correct explanation

What? Why?

($)20

(1 score point)
1 point for correct answer

What? Why?

Sample Explanation:

The point ("3, 725) implies going back in time and receiving money
from the gym at the point where the two functions intersect. That is
why the point (73, 25) is not possible in terms of this context.

OR equivalent

(1 score point)
1 point for correct and complete explanation
OR ¥z point for correct but incomplete explanation
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MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

A1

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5,

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?

\
S\ope 'S 10 Y-intercept s )

ANy IR TS ‘
The' Slope represents | The uy-iplercepy fepregenis
the monthly rote the discounied fee
Jushin: has 1o pay. ta join

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

of ! _
pfé ‘2\ ‘:]'-‘\5)( +a0 d S‘;:“‘igf\kspﬁw
4=\5(N+0 4= 100045
B:\S-l»ao 5=\0+5
4= 35 =5 % Fustin
\ soves 320
) 35 the {irsi
-1 month
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A1

MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (<3, -25).

C. Why is the point (-3, -25) not a possible solution in this situation?

The point (-3,-3B) is not G POSSiple
Soluhon because both of Yhe numbers
O  rnegaive. Tn a (ea\ e Situanion, you

con  notY go G negalwe amount of  months
or Pay neaa’h‘ve amouny of mongy .

The solution set s saging  he Vs qoing
x’wj)ﬁn‘.’e -3 months and pqv:)\‘nﬁ ¥-a5. T4
Ts just nol  possible.
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MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation? 10 \
(o (or ?) This

| 'S
(@/}e«sm, Jr}?g,ki‘z(ﬂ'}on._ﬂ?\q efe hich s ake
(e o, TH Y kgt 5 5

(05) *+his ,/c’,js/eéen"? the jﬂiwﬁj fee ! whieh Yo Py
U{S Front,

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

HC SHUES 10 délhf.s U[)m j'o)n.li?? 4
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A2

MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

C. Why is the point (-3, -25) not a possible solution in this situation?

The sdubn of e fonchiens

| g UI/\L() Hf- fUo [Aéé N fer‘sc_ml’/
N 'H\e,sga {*Wcs of probkms o siybn

s Uk ’H)e\f hoth cost H]& Same

| bbabn dferont independent  Lariobk, ’

Ths  Solken 1o imes e becase
(/W cannat  have .ﬂt(:‘):&% iue. Manths ‘
| ) h‘éﬁ { NS - lb\/f;.[f/v newer ) QJM—?@O’{' in
the P‘ff_,.)L C(}Wffaﬂ% . Thys | tJ( (< sy
Gr the fue prices fs ,@-Ul@mt
Cost Hhe  same. “
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MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y=10x + 5. ' '

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?

The slope s 10X ond  y-indercept 48§,
The  dope  fepresent - venthuf rote ande
Y- tereepd-  aprererct Sthae 4o do \‘P;“'

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
. - L :
atthe dgsg‘?.‘é-'y,%@;‘%ﬁce rather than at the regular price?

y = \5(1)+ 20 gy =lox +3
Y= 15+ y = 1o +§
J = 3§ ¥y = 10 5
Cés"‘sj Yy = IS
= 320

44m o Yue Aoeswrded Pl rotd Hhan b -

-(2:%-.&19\!‘ {)ﬂ'e.L.
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A3

MATHEMATICS SECTION 2

51.  Continued. Please refer tg the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (=3, -25).

C. Why is the point (-3, -25) not a possible solution in this situation?

yz lox +§ g = 1§x T20
-5z 10 FS 2§ = 1§(=3) + 20
=25 = =30+ § —ge = -~ HS +20
~28 = = 2§ 7§ =~

)
)

The point (= _3‘,-25') “hot Jurhn crealen bopss on

thi  eguadion from port A ond. e Wmﬂ Arom
i A ottushion

port B ‘a not o= .Panm'bls- soltion

[} '\A.L'
becaun.  we. con'd hare, wnoahv\c. ~Mo or r\nﬁa“
Hhine Thodle iy W (godn Ao Fnmde o different

pteck rorde + pibwMon  do tha :_,»rﬂﬁm £ a%mcl'{o'rﬁe
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51.

MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?

’[Fw/ dppeof Hhe -&Q uckon 1 15 ,Mc{ the %--a-lmfwﬂ'

In ' “;hcﬂ / O ‘\ch Mch %v
#1 fc':mv eo; hre a»nA 5‘ repres m{vmﬁw
ml'llﬂ’(’v\ f:e.eu

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

J:‘5haq e s é’; nhe B rst Plonth.
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- ~ MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (=3, -25).

C. Why is the point (-3, -25) not a possible solution in this situation?
The pcufl/’ ¢ =3 -5) s ﬂo ;wsﬂéf’/ fﬁfu\[lm n -Uw
siteedion becouse ik o Fpossible o join th

i?n for <7 rionths orgoy odvtalof -25
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25.

AS

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The diséounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?

S\OQQ' 19
\ 'nrﬁerce@ -5

The skoee and Y"M*ﬁr@@r fepresent e mW7
lote

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

He sages §RO.
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PSSA Math: Justin Joins a Gym (Grade 8); Anchor Set A5

25.  Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (—3, —25).

C. Why is the point (-3, -25) not a possible solution in this situation?

Ty not @055"\3“3 S0luvign  becalse Yre
nU(‘Ler; S nQyCL-ﬁVQg
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51.

MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?

)= 0rs
y slope
&/ L Sk §larHny prie
ﬂ’}on%h// fee

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price? '

Jaghn saec 20§ Starhy
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MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, -25).

C. Why is the point (-3, =25) not a possible solution in this situation?

W%W € ‘n}’ ou  Comt e Nigatig
tthefs . .
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51,

MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

¥

The discounted price, in dollars, the gym charges can be repre‘sented by the
equation y = 10x + 5,

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?

Tee SHE 1 1) and (RIS xpd Wit

(0Kl TLay (QORT s 4§ oy Reelsets
XMl WKW el

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

at the discounted price rather than at the regular price?

e Pnyg KBS .,

B. How much money, in dollars, does Justin save the first month by joining the gym |
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51.

MATHEMATICS SECTION 2

Continued, Please refer to the previous page for task explanation.

| Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (=3, =25).

C.

Why is the point (=3, =25) not a possible solution in this situation?

Trs Nt beco ; |
W e REBRTE. eIt iy
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51.

MATHEMATICS SECTION.2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y=10x + 5,

“A. What are the slope and the .y-intercept of the equation? What do the slope and

the y-intercept each represent in this situation? Yh€ S\00C ¢f nis pacrcwor
QuaKcn 1§ 10 Wl e
IMELCEPt IS Shctw by-e
QUM Eer G, e oot and y-
\OWECERTS Show Hhar Jogtin 1S
POYING 10 dowows. G men
and being charged 5 budss
Qg‘i\‘gg feoting  menthvy

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20,

B. How much money; in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

JIEHn S0ues 6 goiors .,
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MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (=3, =25).

C. Why is the point (-3, -25B10t a possible solution in this situation?
hiS ien't- 0 poesibie soihen beChuse Jushd
cant be in deta'r 0S o000 0 e Sh up-
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51,

MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?

S 15 Y Slofe

> 0 T “T\we Yo ndered
o tor Y Taibay et
¥0 por moall

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20,

B. How much money, in dollars, does Justin save the first month by joining the gym
" at the discounted price rather than at the regular price?

\é\g{ Gowtd % % fOte on __\L&
éc' (ounith Qf e
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A9

MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation,

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (=3, =25).

C. Why is the point (-3, ~25) not a possible solution in this situation?
N N Groation 1\*,3
wWest N & S also THS gy
fe (\e/gox\'?wé and St

oot pakh gk

6%\’3\“ 0.
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51.

MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, ih doltars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?

how Mmuch ¢
e b O CEaNTS
(ép\’ csats e Awscarticd price.

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20,

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

Tshn SONES 10 doNOrs yhe firsy

onih oy JONYG e gNM G O.. iscandd|
m
’?T.ICC.
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- MATHEMATICS SECTION 2 -

51.  Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
_equation from part B. The solution to the system of equations is (-3, -25).

C. Why is the point (-3, =25) not a possible solution in this situation?

¥ (- —25) 5 noFY O
re 99 %n%)\n sis  Spuaman beeasse

40N 1 has o
9065\\%! @mgp'i‘\\lﬁ POt Jusnn i3
~ € M -
i 13 ot OF MAY, =0 (%)
pOS\TN'C am se “re PO\N“ !

w codd not L
-E%Sicis\iw OJ?OTD‘U‘C- ScsthonN o s

SdUanaN .
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k MATHEMATICS SECTION 2 ]

51. Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equationy=10x+5,

A. What are the slope and the y-intercept of the equation? What do the siope and

the y-intercept each ni:;;;sent in this si[t)uatic:‘lz S ")5’
oy MUCh T CooTs
tO eans l [ [ 3@

5 meqns Hol 1y mOpths he wi

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20,

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than atﬁse regular price? '

He saved JI0 The 171~
Hime,
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v MATHEMATICS SECTION 2 -

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equat:on from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

C. Why is the point (=3, -25) not a possible soluhon in this sn;tatlon?

E@CCZ’CZSG 25 5 Nno
9qph -
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MATHEMATICS SECTION-2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

1 The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
g k B ) ‘ ax wwat

@ th
GlofeT5 el fhe §lpfe ih?;vf Yz»zém@ 30
YeChon Yoo Wowbel G
Jeintcedds [0X e Ye\\ff}“kfccﬁ Mﬂg'cl'l'/ ¢he\f Yol
“I;ii\ Q»n(,’(‘bf'-“ﬂ*(\ﬁ s36LY s

A12

The regular price, in dollars, the gym charges can be represented by the
equation y = 16x + 20,

B. How much money, in doliars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

el ¥ ’H‘:nk v kWS phe Yegulal REVCL G
N20.A0d Yhe t\{‘{;o&ﬂ'f VS ﬁg 0‘?5' So e A\S(owlicé

pnee would be  §15.00,
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- MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation,

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

C. Why is the point (-3, =25) not a possible solution in this situation? [,ulb‘ h
Peaacse (73, -25) has —het kb , ,,‘,.7:?@%3&4 Lag
Yhis PObION s g1 of Fhe aumbels T <y has
Phese « V=) oxS, Y = \6Ar 20, V0% Se& 1
netw9 fo do with (-3,-25)
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